Venn

Set Notation | Pronunciation Meaning . Answer
Diagram
y . y Everything in 4 |
A \J B A union B both sets @D {.l; 2; 3}
Only whatisin 4 -
A = B “Aintersect B” common with {2}
both sets :

Aor A

“A complement”

Everything NOT
inset A

(AK_JB)'

“not A union B”

Everything NOT
in
set A and set B

(AmB)'

“ not A intersect B

Everything NOT
in common
between set A
and set B
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Deck of Cards

* 52 total cards

asvits QYoo @ B

*13 cards in each suit

A 1,234,5,6,7,8,9,10,J,QK

*3 Face cards in each suit
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"Mutually Exclusive n
“P(A U B) = P(A) + P(B) <
=
"Independent E
“P(A N B) =P(A) * P(B) E_)
>
"Overlapping s
“P(A UB) =P(A) + P(B) = P(A ~ B) n‘—n'
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=sDependent 8
*P(AnB)=P(A)*P(B|A) oz
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| Red Cards
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